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QUESTION 1

Which of the following correctly describes the output results when performing an XSLT tranformation on the following
"XML Document" using the "XSLT Style Sheet" below? Note that the XSLT processor can output transformation results
as a document.

[EML Docurnent]
<data xml: lang="en":>Tokyo</data>

[E5LT Style Sheet]
<x3al:atylesheet veraion="1.0"
¥mlns:xsl="http://www.wi.ocg/ 1999/ X3L/ Transform™ >
<xal:tewmplate watch="/">
<usliapply-templates select="data" />
</®sl:templater

<¥sl:template match="data">
<x3al:copy>
<xal:apply-templates select="." mode="proceasLang™ />
<wzsl:value-of select="." /=
</x3l:copy:
</wal:templater

<xal:template match="*" mode="proceasLang™>
<xzl:choose:
<xal:when test="[@xml: lang">
<xgl:copy-of select="Bxml: lang" /=
</m3l:vhenr
<x3l:otherwize-
<xal:atcribute name="wml:lang">ja-JP</xal:attributex
</wal:ocherwisex
</xal:choosex
</xsl:templatesr
</wmal:acylesheer:

A.

B. Tokyo
C. Tokyo
D. Tokyo

Correct Answer: C

QUESTION 2

Use XSLT transformation to create XML according to the schema (portions modified for this question) defined by
TravelXML.

Perform XSLT transformation on the "XML Document" using the following "XSLT Style Sheet". Select which of the

following correctly describes the results of performing a validation check on the post-transformation XML against the
schema ("XML Schema" referenced when the Exhibit Button is pushed).
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[EML Document]

<form Xmlns="urn:xmlmastcer ">
<fieldl>Sky Jtar Hotel</fieldl>-
<TiprldZz</Tirldl>
<fieldir</fieldix

</ forms>

[EZLT 2twyle Sheet]

<xsl:ztylesheet wversion="1.0"
¥mwlns:xsl="http:/ www. wI.ocgf 1999/ X381/ Transform"
*mwlns: fw="urn: xmlmaster”
exclude-result-prefixes="Tfm">

<xsl:template match="7;">
“xsl:element nasme="EBookingWotification™
mlns="http:/svww. xmlns.orc/ 2003/ Trave LEML ">

<xzl:ielement name="liccommodationInfornation’:>

«xzl:elenent name="iccommodationMame ">
<xsli:value—aof select="fm:form/ fn: fiseldl™ />
</fx=zl:element:
£¥sl:1if tesc="fm:form/fm:fielda/cexc () "=
<z liglement name="Chainllames ">
<uzl:ivalus—of select="fm:forn'fm: fisld2™ />
<fxzlielement:
<fusliifr
<xzl:if test="fm:form/fm:fieldld/ cexn () ">
<xsl:ielement name="AccomuodatiorPhoneNunber ™=
<mal:value—-of select="fm:Tforn/fm:Lield3d™ /=
<fwsl'elements
<fusl:ifs

<f/usl:elementcr
zfwsl:elements
<fxsl:templates
</xsl:istylesheet:>

A. The root element (document element) of the post-transformation XML is an empty element, and the post-
transformationXML is not valid against the schema

B. The post-transformation XML does not include the required elements defined by the schema (all elements defined
oncethey have appeared, namespace reflected); therefore, is not valid

C. The post-transformation XML includes all of the required elements defined by the schema (all elements defined
oncethey have appeared, namespace reflected); however, is not valid

D. The post-transformation XML is valid

Correct Answer: D

QUESTION 3

Which of the following does not correctly describe WSDL (WSDL 1.1)?

A. Under the WSDL definition, you can use the import element to import another WSDL definition
B. You do not need to specify a binding element when creating a WSDL definition

C. When a service operation is a "One-way" type, you can specify a fault element to designate the error message type
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asthe child element of the operation element within the protType element

D. When a service operation is a "Request-response” type, you can specify a fault element to designate the error
messagetype as the child element of an operation element within the portType element

Correct Answer: C

QUESTION 4

Which of the following text strings is not output to the results document when performing an XSLT transformation on the
following "XML Document" using the "XSLT Style Sheet" below? Note that the XSLT processor can output
transformation results as a document.

[EML Doocument]
<doc NS1l:title="Title™ xmlns="http://www.Xmlmaster.ory/ exam’
mlnz i N31="http://wuw. xmlraster. org/ exam™>

<kbody Nol:section="value™ xmlns=mrr:
<MN3l:content-Content</MN31:content>
</body>
</ doos

[E3LT 3tvyle Sheet]
<zatylesheet verzion="1.0" xmwlns="http:// wmw. w3 .orgl 1999/ 5L Transform"”
imlng::NS1="http: /fwww. Xmolmaster . org/ exsm™=
<output method="text™ />
<template match="/"x
<apply—templates select="descendant::*/attribute: :N31:% | descendant::N31:%"/ >

</cemplates

<temwplate match="+* | attrikute::*"s<value-of select="name ()" >, < template:
</styleshest:>

A. doc

B. NS1l:title

C. body

D. NS1l:section
E. NS1l:content

Correct Answer: C

QUESTION 5

When processing the following "XML Document" according to the method shown by "DOM Processing," which of the
following correctly describes the output results (print method output)?
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[EML Documesnt]
<docr<oontent>Today' s<boldx>"hot"</boldrnews</content></docx>

[DOM Processing]
Progesza XML using the rfollowihg method.
printXML | doc )
The wariable doc here references the Document instance of the loaded XML Document.
Lzzure no execution Brrors.

publoc static void printZML | Docwumwent doc )

Element content = [(Element)doc.getlDocumentElement () .gecFirscChildl()
NodeLi=st nl = content.getChildiNodes() ;
System.out.print{ nl.geclengthi)l ):
Elewent hold = [(Element)content.getElensntsByTagare [ "hold™ ) .item(0) ;
content ..removechildl bold ):
Svstem.out.print( nl.getLengthil :
¥

B. 43

C.42

D. 33

E. 32

F.31

Correct Answer: E
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